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Shopping word problems

Grade 4 Word Problems Worksheet

Using the below item prices, solve the equations.

shirt = $8.38 hat = $12.47
tie = $6.11 belt =$7.13
pair of socks = $4.74 jacket = $33.04
sweater = $26.75 pair of pants = $31.62
1. Sandra purchases a sweater and a tie. If she had
$40.00, how much money will she have left?
2. What is the total cost of a hat?
3. Michele purchases a pair of pants and two hats. If
she had $70.00, how much money will she have lefte
4, Donald purchases two ties and a pair of socks. If he
had $30.00, how much money will he have left?
5. What is the total of two tiese
6. Paul purchases a pair of socks, a belt, and two

jackets. How much change will he get back from
$20.00%
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Answers

1. $7.14
2. $12.47
3. $13.44
4. $13.04
5. $12.22
6. $12.05

Sandra purchases a sweater and a tie. If she had $40.00,
how much money will she have left?

What is the total cost of a hat?

Michele purchases a pair of pants and two hats. If she
had $70.00, how much money will she have left?

Donald purchases two ties and a pair of socks. If he had
$30.00, how much money will he have left?

What is the total of two ties?

Paul purchases a pair of socks, a belt, and two jackets.
How much change will he get back from $90.00?
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